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[=Eiva v CarNo K4 FiE Sec.1 Sec.? Sec.3 Sec.4 Sec.b Sec.6 Sec.7 SS =’ JUTE| o) —r#| BiES

1 P 003 T fE— AY—E—X 0 0 0 4 0 3 6 26.97 14:38 7 4 13

2 P 002 A K88 Xl —E—=X 0 0 0 10 1 10 10 14.13 14:03 4 3 31

3 P 23 NEEH =2 FZAE 4 10 0 10 0 0 10 19.94 14:43 4 3 34

4 P 005 FE &S AF—L 1 0 0 10 10 10 10 22.43 13:52 3 2 41

5 P 28 Ka Fi& BABL®»>TH7A—K— 10 1 0 10 3 10 10 13:58 3 1 44

6 P 27 KA F RAB®Y>TH7A—K— 10 10 0 10 10 10 10 17.84 13:59 1 1 60
/=i ViV CarNo K4 FiE Sec.1 Sec.2 Sec.3 Sec.4 Sec.5 Sec.6 Sec.7 SS = VTV %] BEA

1 S 19 I HE— F— LA 3 0 0 10 2 0 10 21.34 14:22 5 3 25

2 S 24 BRIl =7 D IN=R A e 5 1 0 10 1 0 10 22.28 14:13 5 2 27

3 S 01 T Ee Xh—IL 7 0 0 10 4 0 10 18.9 14:26 5 3 31

4 S 26 IR R— TEAM L XFF 6 1 0 10 2 2 10 15.81 14:12 5 1 31

5 S 31 RSB & RABY>TH7A—K— 2 0 0 10 0 10 10 17.56 13:42 4 3 32

6 S 20 R R - 3 8 0 10 1 1 10 19.56 14:23 5 1 33

7 S 16 BAR WER ABW 10 1 0 10 0 10 10 28.28 14:35 3 2 41

8 S 03 T fE— AY—E—X 10 0 10 7 0 8 10 99.99 14:38 4 2 45

9 S 30 EE WX 4 x4LEGEND 10 10 0 10 0 10 10 33.15 14:08 2 2 50
/=i ViV CarNo K4 FiE Sec.1 Sec.2 Sec.3 Sec.4 Sec.5 Sec.6 Sec.7 SS = TJUTE| V-] BEA

1 N 1 i ER IR 1 0 0 10 6 20.38 14:50 6 2 17




